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The Exam 4 retake homework is due tomorrow (Tuesday, August 4) before 1:00 p.m. via http://organic.utep.edu/quiz.  You may work together on this homework but everyone is responsible for submitting his or her own answers via the online form and you should not consult with anyone outside of class.  Turn in your homework as long before the due date and time as possible. No excuses for late entries!
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1.-8. Pertain to the Haworth projection on the right.  Hint: If the structure is D, rotate it, if it is L draw its mirror image so that you can answer the remaining questions correctly.  Determining the absolute configuration of chiral centers (R or S) may also help.  The dark wedge means the front. 
1. The compound is?  


a. D


b. L


c. both a. and b.

d. not a.-c.
2. The compound is? 


a. alpha


b. beta


c. both a. and b.

d. not a.-c.
3. The compound is a?


a. hexose

b. pentose

c. tetrose

d. triose

e. not a.-d.

4. The compound is a?


a. furanose

b. pyrolose

c. pyranose

d. tyranose

e. not a.-d.

5. The compound is a reducing sugar?

a. true

b. false

6. The compound is a closed form of a(n)?

a. aldose

b. carbolose

c. ketose

d. nonsensose

e. not a.-d.
7. The compound is a closed form of D or L?

a. fructose

b. galactose

c. glucose

d. ribose

e. not a.-d.
8. The compound is a(n)?

a. acetal

b. hemiacetal

c. hemiketal

d. ketal


e. not a.-d.

9. D-erythrose and L-threose are? 
a. constitutional isomers
b. diastereomers but not epimers


c. enantiomers



d. epimers


e. not a.-d.

10. alpha-maltose and alpha-cellobiose are?
a. anomers

b. constitutional isomers

c. diastereomers but not anomers

d. enantiomers

e. not a.-d.



11. The following compound is D or L? [image: image1.emf]O


-


O


H


N


H


3


+


O




O

-

OH

NH

3

+

O


a. erythronine

b. isoleucine

c. leucine

d. threonine

e. not a.-d.

12. The following compound is? [image: image2.emf]N
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a. Phe-Leu

b. Phe-Val

c. Leu-Phe

d. Val-Phe

e. not a.-d.

13. Which carbohydrate could not be made by one or more cycles of the Fischer synthesis from D-erythrose?
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b. D-galactose

c. D-glucose

d. D-ribose

e. not a.-d.

14. Which reagent is required for both the Fischer synthesis and Ruff degradation?
a. Br2


b. Ba(II)


c. Fe(III)
/H2O2

d. Na(Hg)

e. not a.-d.

15. Use the fact that E is optically active but D and F are not optically active to identify A in the following reactions.
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e. not a.-d.
16. The reaction of the following compound with phenylthioisocyante and acid gives? [image: image9.emf]N
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N


S


H


P


h


O




N N

S

H Ph

O


e. not a.-d.
